
Errata 

Page 2, line 49, column 1: 

For: 

Re ad: 

On the prairies, for example, Edmonton, Calgary and Winnipeg all doubled 
their populations in the ten years between 1951 and 1961, while Regina and 
Saskatoon had increases almost as large. 

On the Prairies, for example, Calgary and Saskatoon doubled their populations 
in the fifteen years between 1951 and 1966, while Edmonton and Regina had 
increases almost as large. 

Page 16, ligne 7. column 2: 

Pour: Par exemple , dans les Prairies, Edmonton, Calgary et Winnipeg ont doublé 
leur population en moins de dix ans , entre 1951 et 1961 . et il en a été de 
même pour Regina et Saskatoon. 

Lisez: Par exemple, dans les Prairies, Calgary et Saskatoon ont doublé leur 
population en moins de quinze ans, entre 1951 et 1966" et il en a été presque 
de même pour Edmonton et Regina. 
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